
Polaris Ranger XP900 Winch Mounting Plate 

(does not fit RZR XP900) 

P/N: EMP-11879 

Accepts winches up to 4000 lbs. 

Fits most major brand UTV winches. 

Mounting holes for both regular winches and wide spool winches.  

Bolt Patterns; 6-5/8" wide x 3" deep (wide spool) and 4-7/8" x 3" deep 

(regular spool). 

Two Fair lead Bolt Patterns; 4-7/8" (regular spool) and 6" Centers (wide 

spool). 

See install video on our website. Or go to: http://

www.youtube.com/watch?v=sHejjP5eRIE 

 
 

Includes: 

1. (1) Winch Mtg. Plate 

 

Hardware Bag: 

1. (1) Fairlead Adapter Plate (plate with four studs) 

2. (2) 3/8-16 x 1” Flange Head Bolts 

3. (2) 3/8 x 1” Carriage Bolts (black) 

4. (2) 3/8” Serrated Flange Nuts 

5. (4) 5/16 Nylon Nuts 

6. (4) 5/16 Flat Washers 

 

Installation: 

1. Set vehicle parking brake. 

2. Remove stock bumper.  Save hardware. 

3. Mount your winch upside down to the mounting plate with the hard-

ware that came with your winch.  Note: make sure the cable comes 

over the top of your spool then out the fairlead bracket.   

4. Bolt the winch assembly to your frame.  The 3/8 flange bolts will go 

into the threaded holes in your frame.  The carriage bolts will go in 

from the back side of your frame.  Do not tighten yet. 

5. Bolt the bumper back on using your stock hardware again. 

6. Bolt the roller fairlead bracket to the bumper.  The bolts will go 

through the bumper and the winch plate. Note: if using a small spool 

winch you will have to use the adapter bracket and 5/16” hardware 

provided. 


